&M 3

SHSFE

ik
M

M|
2

/
4

BR SRR HAT 3 45 4




THSEERBITMEARRBRETHE

THSFERBETMBARXRBEZZDFREIL. RIZEHDHESHITLD,

(BMABRETEH)
F1E BABRETEDOREIL. RABREHZINTNT,379,000HEEHD,
2 BABEFEOFEBORSRUVEZREANCLEOREIX. FI1RBFABHETEIZELS,

(MHEFPEDFRA)

F2F% BHEHFEORZHBORBITBFRERANELIGEIF. REICIECTRATHIENT
&5,

HH4E12A16HIEH

RAETHIS A AR BERBRR WK FIE



1 THSFERMATHIBE AR RBRE FTE(E)
7,379,000M
7,379,000H
=517%%  0A
(WAl (B : )
| & [ = [ & [ wem [ wex [ 0w % |
1 RiEE =Eik fiEE 7,379, 000 9, 000|ET &1 7,379, 000
2 wHyME HEE HEE 0 0
3 ‘B @RsE Bse 0 0
4 FEAA FURA A 0 0
mARE 7,379, 000 9, 000
(] (BGL : A

1 EEE 9, 000 9,000
REE REE 9, 000 9, 000|RBREHER 9, 0003
E% =HE 0 0
) EERH BB ExE 7,370, 000 0 ;?%?éf)aﬁﬂié%@q:l’ﬁ%ﬁﬂﬁl:{%éi%ﬂf#
3 FiHE FlRE FlHE 0 0
A=y 7,379, 000 9,000




